CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 FINAL ASPHALT PAVING REPAIR AT MATERIAL RECOVERY FACILITY / CO-COMPOST PLANT PROJECT NO. SW008-1733 / CIP NO. 50731

OCTOBER 1, 2008

ORIGINAL CONTRACT AMOUNT: \$82,619.66

CONTRACTOR: HILLS MATERIALS COMPANY

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	MOBILIZATION DESCRIPTION	LS	1.00	\$2,900.00	\$2,900.00	1.00	\$2,900.00	\$0.00
2	REMOVE AND DISPOSE ASPHALT PAVEMENT AND RECYCLED ASPHALT PAVEMENT SECTION, 14"	SY	109.00	\$10.00	. ,	0.00	\$0.00	(\$1,090.00)
3	REMOVE AND DISPOSE RECYCLED ASPHALT PAVEMENT, 14"	SY	224.00	\$8.50	\$1,904.00	242.60	\$2,062.10	\$158.10
4	UNCLASSIFIED EXCAVATION, DIGOUTS WITH SUGAR ROCK	CY	20.00	\$63.32	\$1,266.40	13.70	\$867.48	(\$398.92)
5	GEOTEXTILE FABRIC	SY	50.00	\$3.00	\$150.00	0.00	\$0.00	(\$150.00)
6	RECYCLED ASPHALT PAVEMENT PATCHING, 10" (BASE)	SY	185.00	\$10.05	\$1,859.25	242.60	\$2,438.13	\$578.88
7	RECYCLED ASPHALT PAVEMENT PATCHING, 14" (FULL DEPTH)	SY	224.00	\$13.41	\$3,003.84	0.00	\$0.00	(\$3,003.84)
8	AC PATCHING, CLASS G, TYPE 1, 4"	SY	109.00	\$26.00	\$2,834.00	0.00	\$0.00	(\$2,834.00)
9	AC SKIN PATCH OR OVERLAY, CLASS G, TYPE 1, 2"	TON	100.00	\$95.00	\$9,500.00	261.58	\$24,850.10	\$15,350.10
10	CRACK SEALING	LF	650.00	\$1.94	\$1,261.00	675.00	\$1,309.50	\$48.50
11	FLUSH SEAL	SY	19,400.00	\$0.22	\$4,268.00	19,400.00	\$4,268.00	\$0.00
12	COVER AGGREGATE	TON	190.00	\$44.62	\$8,477.80	192.28	\$8,579.53	\$101.73
13	ASPHALT FOR SURFACE TREATMENT	TON	15.00	\$697.34	\$10,460.10	17.79	\$12,405.68	\$1,945.58
14	CONCRETE PAVEMENT, REINFORCED, 8"	SY	76.00	\$100.00	\$7,600.00	82.20	\$8,220.00	\$620.00
15	PAVEMENT MARKING PAINT, 4" WHITE	LF	1,760.00	\$0.15	\$264.00	1,760.00	\$264.00	\$0.00
16	PAVEMENT MARKING PAINT, 4" YELLOW	LF	2,800.00	\$0.15	\$420.00	2,800.00	\$420.00	\$0.00
17	PAVEMENT MARKING PAINT, 12" WHITE	LF	15.00	\$2.49	\$37.35	15.00	\$37.35	\$0.00
18	PAVEMENT MARKING PAINT, TURN ARROW	EA	2.00	\$37.38	\$74.76	2.00	\$74.76	\$0.00
19	PAVEMENT MARKING PAINT, "ONLY" SIGN	EA	1.00	\$24.92	\$24.92	1.00	\$24.92	\$0.00
	TOTAL BASE BID		\$57,395.42		\$68,721.56	\$11,326.14		

	Add-on Alternate Number 1							
20	REMOVE CURB AND GUTTER	LF	124.00	\$3.36	\$416.64	130.50	\$438.48	\$21.84
21	REMOVE AND DISPOSE ASPHALT PAVEMENT AND RECYCLED ASPHALT PAVEMENT SECTION, 14"	SY	260.00	\$5.50	\$1,430.00	90.30	\$496.65	(\$933.35)
22	UNCLASSIFIED EXCAVATION, DIGOUTS WITH SUGAR ROCK	CY	200.00	\$45.00	\$9,000.00	20.40	\$918.00	(\$8,082.00)
23	GEOTEXTILE FABRIC	SY	310.00	\$3.00	\$930.00	0.00	\$0.00	(\$930.00)
24	RECYCLED ASPHALT PAVEMENT, 10"	CY	190.00	\$17.84	\$3,389.60	90.30	\$1,610.95	(\$1,778.65)
25	ASPHALT CONCRETE, CLASS G, TYPE 1, 4"	TON	70.00	\$87.00	\$6,090.00	70.00	\$6,090.00	\$0.00
26	CURB AND GUTTER	LF	124.00	\$32.00	\$3,968.00	147.40	\$4,716.80	\$748.80
	TOTAL ADD-ON ALTERNATE NUMBER 1				\$25,224.24		\$14,270.88	(\$10,953.36)
	CHANGE ORDER NO. 1							
27	FABRIC	SY	0.00	\$4.09	\$0.00	300.00	\$1,227.00	\$1,227.00
28	MILLING	SF	0.00	\$1.53	\$0.00	1,600.00	\$2,448.00	\$2,448.00
	TOTAL BASE BID PLUS ADD-ON ALTERNATE NUMBER 1				\$82,619.66		\$86,667.44	\$4,047.78

C.C.O. HISTORY INCREASE/(DECREASE)			PRIOR ADJUSTED CONTRACT PRICE :	\$82,619.66
	CCO #1 Final	\$4,047.78	NET INCREASE/(DECREASE):	\$4,047.78
		\$0.00	ADJUSTED CONTRACT PRICE:	\$86,667.44
		\$0.00	CHANGE TO DATE:	\$4,047.78

CONTRACTOR: HILLS MATERIALS COMPANY; PO Box 2320; Rapid City, SD 57709-2320	DATE
PROJECT MANAGER: KEITH JOHNSON	DATE
CITY ENGINEER: DALE TECH	DATE
MAYOR: ALAN HANKS	DATE
FINANCE: JAMES PRESTON	DATE
CONTRACT TIME CHANGE +/-: 0 NEW CONTRACT TIME: Days	

City Staff recommends approval of this Change Order #1F to Hills Materials Company for an increase of \$4,047.78 based on unit pricing with the following appropriation:

Initial Funding	\$82,619.66	\$0.00	\$0.00	\$0.00	\$82,619.66
Fund Type	Materials Recovery Facility				
Department	7103				
Line Item	4254				
Fund	0616				
CCO #1 Final	\$4,047.78				\$4,047.78
CCO #11 IIIai	φ4,047.70				\$0.00
Adjusted Funding	\$86,667.44	\$0.00	\$0.00	\$0.00	\$86,667.44

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 FINAL ASPHALT PAVING REPAIR AT MATERIAL RECOVERY FACILITY / CO-COMPOST PLANT PROJECT NO. SWO08-1733 / CIP NO. 50731

OCTOBER 1, 2008

ORIGINAL CONTRACT AMOUNT: \$82,619.66

CONTRACTOR: HILLS MATERIALS COMPANY

LINE		
ITEM	DESCRIPTION	REASON FOR CHANGE
	REMOVE AND DISPOSE ASPHALT PAVEMENT AND RECYCLED	
2	ASPHALT PAVEMENT SECTION, 14"	ITEM NOT USED
3	REMOVE AND DISPOSE RECYCLED ASPHALT PAVEMENT, 14"	ALL REMOVALS PAID UNDER THIS ITEM
4	UNCLASSIFIED EXCAVATION, DIGOUTS WITH SUGAR ROCK	CONSTRUCTED QUANTITY
5	GEOTEXTILE FABRIC	ITEM NOT USED
6	RECYCLED ASPHALT PAVEMENT PATCHING, 10" (BASE)	CONSTRUCTED QUANTITY
7	DEPTH)	ITEM NOT USED
8	AC PATCHING, CLASS G, TYPE 1, 4"	ITEM NOT USED
9	AC SKIN PATCH OR OVERLAY, CLASS G, TYPE 1, 2"	ALL PATCHING PAID UNDER THIS ITEM
10	CRACK SEALING	CONSTRUCTED QUANTITY
12	COVER AGGREGATE	CONSTRUCTED QUANTITY
13	ASPHALT FOR SURFACE TREATMENT	CONSTRUCTED QUANTITY
14	CONCRETE PAVEMENT, REINFORCED, 8"	CONSTRUCTED QUANTITY
20	REMOVE CURB AND GUTTER	CONSTRUCTED QUANTITY
	REMOVE AND DISPOSE ASPHALT PAVEMENT AND RECYCLED	
21	ASPHALT PAVEMENT SECTION, 14"	CONSTRUCTED QUANTITY
	·	CONSTRUCTED QUANTITY
23	GEOTEXTILE FABRIC	ITEM NOT USED
	RECYCLED ASPHALT PAVEMENT, 10"	CONSTRUCTED QUANTITY
26	CURB AND GUTTER	CONSTRUCTED QUANTITY
27	FABRIC	ADDED PAVING FABRIC TO PREVENT REFLECTIVE CRACKING IN NEW PAVEMENT
28	MILLING	MILLED TOP 2" OF AREAS REQUIRING SKIN PATCHES OR OVERLAY

PREPARED BY: Keith Johnson DATE: October 1, 2008